
Architecture: CleoBCfsm_arch

//diagram ACTIONS//diagram ACTIONS

CleoStates
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OP_ULA[2:0]

V

BUSCA0

BUSCA1

OP_ULA<="111";
WRITE_REG<="000";
READ_REG<="011"; HALT<='0';
LNZ<='0'; LCV<='0'; CE<='0'; RW<='0';

OP_ULA<="111";
WRITE_REG<="000";
READ_REG<="011"; HALT<='0';
LNZ<='0'; LCV<='0'; CE<='0'; RW<='0';

RESET='1'

RESET='0'

STAI1

STAI0

OP_ULA<="100";
WRITE_REG<="010";
READ_REG<="001"; HALT<='0';
LNZ<='0'; LCV<='0'; CE<='0'; RW<='0';

OP_ULA<="100";
WRITE_REG<="010";
READ_REG<="001"; HALT<='0';
LNZ<='0'; LCV<='0'; CE<='0'; RW<='0';

NOTA

DECOD

STAIN0

OP_ULA<="111";
WRITE_REG<="111";
READ_REG<="100"; HALT<='0';
LNZ<='0'; LCV<='0'; CE<='1'; RW<='0';

OP_ULA<="111";
WRITE_REG<="111";
READ_REG<="100"; HALT<='0';
LNZ<='0'; LCV<='0'; CE<='1'; RW<='0';

OP_ULA<="100";
WRITE_REG<="000";
READ_REG<="001"; HALT<='0';
LNZ<='0'; LCV<='0'; CE<='0'; RW<='0';

OP_ULA<="100";
WRITE_REG<="000";
READ_REG<="001"; HALT<='0';
LNZ<='0'; LCV<='0'; CE<='0'; RW<='0';

OP_ULA<="001";
WRITE_REG<="110";
READ_REG<="011"; HALT<='0';
LNZ<='0'; LCV<='0'; CE<='1'; RW<='1';

OP_ULA<="001";
WRITE_REG<="110";
READ_REG<="011"; HALT<='0';
LNZ<='0'; LCV<='0'; CE<='1'; RW<='1';

OP_ULA<="111";
WRITE_REG<="000";
READ_REG<="011";
LNZ<='0'; LCV<='0';
CE<='0'; RW<='0';
HALT<='0';

OP_ULA<="111";
WRITE_REG<="000";
READ_REG<="011";
LNZ<='0'; LCV<='0';
CE<='0'; RW<='0';
HALT<='0';

STAI3

STAI2

OP_ULA<="111";
WRITE_REG<="001";
READ_REG<="100"; HALT<='0';
LNZ<='0'; LCV<='0'; CE<='1'; RW<='1';

OP_ULA<="111";
WRITE_REG<="001";
READ_REG<="100"; HALT<='0';
LNZ<='0'; LCV<='0'; CE<='1'; RW<='1';

OP_ULA<="100";
WRITE_REG<="000";
READ_REG<="001"; HALT<='0';
LNZ<='0'; LCV<='0'; CE<='0'; RW<='0';

OP_ULA<="100";
WRITE_REG<="000";
READ_REG<="001"; HALT<='0';
LNZ<='0'; LCV<='0'; CE<='0'; RW<='0';

OP_ULA<="001";
WRITE_REG<="110";
READ_REG<="011"; HALT<='0';
LNZ<='0'; LCV<='0'; CE<='1'; RW<='1';

OP_ULA<="001";
WRITE_REG<="110";
READ_REG<="011"; HALT<='0';
LNZ<='0'; LCV<='0'; CE<='1'; RW<='1';

OP_ULA<="111";
WRITE_REG<="000";
READ_REG<="011"; HALT<='0';
LNZ<='0'; LCV<='0'; CE<='0'; RW<='0';

OP_ULA<="111";
WRITE_REG<="000";
READ_REG<="011"; HALT<='0';
LNZ<='0'; LCV<='0'; CE<='0'; RW<='0';

STAIN3

STAIN2

STAIN1

OP_ULA<="000";
WRITE_REG<="000";
READ_REG<="111"; HALT<='0';
LNZ<='0'; LCV<='0'; CE<='0'; RW<='0';

OP_ULA<="000";
WRITE_REG<="000";
READ_REG<="111"; HALT<='0';
LNZ<='0'; LCV<='0'; CE<='0'; RW<='0';

OP_ULA<="001";
WRITE_REG<="110";
READ_REG<="011"; HALT<='0';
LNZ<='0'; LCV<='0'; CE<='1'; RW<='1';

OP_ULA<="001";
WRITE_REG<="110";
READ_REG<="011"; HALT<='0';
LNZ<='0'; LCV<='0'; CE<='1'; RW<='1';

OP_ULA<="111";
WRITE_REG<="000";
READ_REG<="011"; HALT<='0';
LNZ<='0'; LCV<='0'; CE<='0'; RW<='0';

OP_ULA<="111";
WRITE_REG<="000";
READ_REG<="011"; HALT<='0';
LNZ<='0'; LCV<='0'; CE<='0'; RW<='0';

STAR2

STAR1

STAR0

OP_ULA<="010";
WRITE_REG<="100";
READ_REG<="100"; HALT<='0';
LNZ<='1'; LCV<='0'; CE<='0'; RW<='0';

OP_ULA<="010";
WRITE_REG<="100";
READ_REG<="100"; HALT<='0';
LNZ<='1'; LCV<='0'; CE<='0'; RW<='0';

OP_ULA<="001";
WRITE_REG<="110";
READ_REG<="011"; HALT<='0';
LNZ<='0'; LCV<='0'; CE<='1'; RW<='1';

OP_ULA<="001";
WRITE_REG<="110";
READ_REG<="011"; HALT<='0';
LNZ<='0'; LCV<='0'; CE<='1'; RW<='1';

LDAI0

LDAI1

LDAI2

OP_ULA<="111";
WRITE_REG<="000";
READ_REG<="011"; HALT<='0';
LNZ<='0'; LCV<='0'; CE<='0'; RW<='0';

OP_ULA<="111";
WRITE_REG<="000";
READ_REG<="011"; HALT<='0';
LNZ<='0'; LCV<='0'; CE<='0'; RW<='0';

OP_ULA<="001";
WRITE_REG<="110";
READ_REG<="011"; HALT<='0';
LNZ<='0'; LCV<='0'; CE<='1'; RW<='1';

OP_ULA<="001";
WRITE_REG<="110";
READ_REG<="011"; HALT<='0';
LNZ<='0'; LCV<='0'; CE<='1'; RW<='1';

OP_ULA<="100";
WRITE_REG<="100";
READ_REG<="001"; HALT<='0';
LNZ<='1'; LCV<='0'; CE<='0'; RW<='0';

OP_ULA<="100";
WRITE_REG<="100";
READ_REG<="001"; HALT<='0';
LNZ<='1'; LCV<='0'; CE<='0'; RW<='0';

LDAD0

LDAD1

LDAD2

LDAD3

OP_ULA<="111";
WRITE_REG<="000";
READ_REG<="011"; HALT<='0';
LNZ<='0'; LCV<='0'; CE<='0'; RW<='0';

OP_ULA<="111";
WRITE_REG<="000";
READ_REG<="011"; HALT<='0';
LNZ<='0'; LCV<='0'; CE<='0'; RW<='0';

OP_ULA<="001";
WRITE_REG<="110";
READ_REG<="011"; HALT<='0';
LNZ<='0'; LCV<='0'; CE<='1'; RW<='1';

OP_ULA<="001";
WRITE_REG<="110";
READ_REG<="011"; HALT<='0';
LNZ<='0'; LCV<='0'; CE<='1'; RW<='1';

OP_ULA<="100";
WRITE_REG<="000";
READ_REG<="001"; HALT<='0';
LNZ<='0'; LCV<='0'; CE<='0'; RW<='0';

OP_ULA<="100";
WRITE_REG<="000";
READ_REG<="001"; HALT<='0';
LNZ<='0'; LCV<='0'; CE<='0'; RW<='0';

OP_ULA<="111";
WRITE_REG<="001";
READ_REG<="100"; HALT<='0';
LNZ<='0'; LCV<='0'; CE<='1'; RW<='1';

OP_ULA<="111";
WRITE_REG<="001";
READ_REG<="100"; HALT<='0';
LNZ<='0'; LCV<='0'; CE<='1'; RW<='1';

LDAIN0

LDAIN1

LDAIN2

LDAIN3

OP_ULA<="111";
WRITE_REG<="000";
READ_REG<="011"; HALT<='0';
LNZ<='0'; LCV<='0'; CE<='0'; RW<='0';

OP_ULA<="111";
WRITE_REG<="000";
READ_REG<="011"; HALT<='0';
LNZ<='0'; LCV<='0'; CE<='0'; RW<='0';

OP_ULA<="001";
WRITE_REG<="110";
READ_REG<="011";
LNZ<='0'; LCV<='0';
CE<='1'; RW<='1';
HALT<='0';

OP_ULA<="001";
WRITE_REG<="110";
READ_REG<="011";
LNZ<='0'; LCV<='0';
CE<='1'; RW<='1';
HALT<='0';

OP_ULA<="100";
WRITE_REG<="000";
READ_REG<="001"; HALT<='0';
LNZ<='0'; LCV<='0'; CE<='0'; RW<='0';

OP_ULA<="100";
WRITE_REG<="000";
READ_REG<="001"; HALT<='0';
LNZ<='0'; LCV<='0'; CE<='0'; RW<='0';

OP_ULA<="111";
WRITE_REG<="001";
READ_REG<="100"; HALT<='0';
LNZ<='0'; LCV<='0'; CE<='1'; RW<='1';

OP_ULA<="111";
WRITE_REG<="001";
READ_REG<="100"; HALT<='0';
LNZ<='0'; LCV<='0'; CE<='1'; RW<='1';

LDAR0

LDAR1

LDAR2

OP_ULA<="111";
WRITE_REG<="000";
READ_REG<="011";
LNZ<='0'; LCV<='0';
CE<='0'; RW<='0';
HALT<='0';

OP_ULA<="111";
WRITE_REG<="000";
READ_REG<="011";
LNZ<='0'; LCV<='0';
CE<='0'; RW<='0';
HALT<='0';

OP_ULA<="001";
WRITE_REG<="110";
READ_REG<="011";
LNZ<='0'; LCV<='0';
CE<='1'; RW<='1';
HALT<='0';

OP_ULA<="001";
WRITE_REG<="110";
READ_REG<="011";
LNZ<='0'; LCV<='0';
CE<='1'; RW<='1';
HALT<='0';

OP_ULA<="000";
WRITE_REG<="000";
READ_REG<="111"; HALT<='0';
LNZ<='0'; LCV<='0'; CE<='0'; RW<='0';

OP_ULA<="000";
WRITE_REG<="000";
READ_REG<="111"; HALT<='0';
LNZ<='0'; LCV<='0'; CE<='0'; RW<='0';

RESET='0'

RESET='0' AND IR(7 DOWNTO 5)="000"

RESET='0' AND IR(7 DOWNTO 5)="001" AND IR(3)='0'

RESET='0' AND IR(7 DOWNTO 5)="001" AND IR(3 DOWNTO 2)="10"

RESET='0' AND IR(7 DOWNTO 5)="001" AND IR(3 DOWNTO 2)="11"

RESET='0' AND IR(7 DOWNTO 2)="010000"

RESET='0' AND IR(7 DOWNTO 2)="010001"

RESET='0' AND IR(7 DOWNTO 2)="010010"RESET='0' AND IR(7 DOWNTO 2)="010011"

RESET='0'

RESET='0'

RESET='0'

RESET='0'

RESET='0'

RESET='0'

RESET='0'

RESET='0'

RESET='0'

RESET='0'

RESET='0'

RESET='0'

RESET='0'

RESET='0'

RESET='0'

RESET='0'

RESET='0'

RESET='0'

RESET='0'

RESET='0'

RESET='0'
RESET='0'

RESET='0'

RESET='0'

RESET='0'

ADDI0

RESET='0' AND IR(7 DOWNTO 2)="010100"

ADDI1

ADDI2

RESET='0'

RESET='0'

RESET='0'

ADDD0

ADDD1

ADDD2

ADDD3

RESET='0'

RESET='0'

RESET='0' AND IR(7 DOWNTO 2)="010101"

RESET='0'

OP_ULA<="111";
WRITE_REG<="000";
READ_REG<="011";
LNZ<='0'; LCV<='0';
CE<='0'; RW<='0';
HALT<='0';

OP_ULA<="111";
WRITE_REG<="000";
READ_REG<="011";
LNZ<='0'; LCV<='0';
CE<='0'; RW<='0';
HALT<='0';

OP_ULA<="001";
WRITE_REG<="110";
READ_REG<="011";
LNZ<='0'; LCV<='0';
CE<='1'; RW<='1';
HALT<='0';

OP_ULA<="001";
WRITE_REG<="110";
READ_REG<="011";
LNZ<='0'; LCV<='0';
CE<='1'; RW<='1';
HALT<='0';

OP_ULA<="000";
WRITE_REG<="100";
READ_REG<="110";
LNZ<='1'; LCV<='1';
CE<='0'; RW<='0';
HALT<='0';

OP_ULA<="000";
WRITE_REG<="100";
READ_REG<="110";
LNZ<='1'; LCV<='1';
CE<='0'; RW<='0';
HALT<='0';

RESET='0'

OP_ULA<="111";
WRITE_REG<="000";
READ_REG<="011";
LNZ<='0'; LCV<='0';
CE<='0'; RW<='0';
HALT<='0';

OP_ULA<="111";
WRITE_REG<="000";
READ_REG<="011";
LNZ<='0'; LCV<='0';
CE<='0'; RW<='0';
HALT<='0';OP_ULA<="001";

WRITE_REG<="110";
READ_REG<="011";
LNZ<='0'; LCV<='0';
CE<='1'; RW<='1';
HALT<='0';

OP_ULA<="001";
WRITE_REG<="110";
READ_REG<="011";
LNZ<='0'; LCV<='0';
CE<='1'; RW<='1';
HALT<='0';

OP_ULA<="100";
WRITE_REG<="000";
READ_REG<="001";
LNZ<='0'; LCV<='0';
CE<='0'; RW<='0';
HALT<='0';

OP_ULA<="100";
WRITE_REG<="000";
READ_REG<="001";
LNZ<='0'; LCV<='0';
CE<='0'; RW<='0';
HALT<='0';

OP_ULA<="111";
WRITE_REG<="001";
READ_REG<="100";
LNZ<='0'; LCV<='0';
CE<='1'; RW<='1';
HALT<='0';

OP_ULA<="111";
WRITE_REG<="001";
READ_REG<="100";
LNZ<='0'; LCV<='0';
CE<='1'; RW<='1';
HALT<='0';

ADDIN0

ADDIN1

ADDIN2

ADDIN3

RESET='0' AND IR(7 DOWNTO 2)="010110"

RESET='0'

RESET='0'

RESET='0'

OP_ULA<="111";
WRITE_REG<="000";
READ_REG<="011";
LNZ<='0'; LCV<='0';
CE<='0'; RW<='0';
HALT<='0';

OP_ULA<="111";
WRITE_REG<="000";
READ_REG<="011";
LNZ<='0'; LCV<='0';
CE<='0'; RW<='0';
HALT<='0';

OP_ULA<="001";
WRITE_REG<="110";
READ_REG<="011";
LNZ<='0'; LCV<='0';
CE<='1'; RW<='1';
HALT<='0';

OP_ULA<="001";
WRITE_REG<="110";
READ_REG<="011";
LNZ<='0'; LCV<='0';
CE<='1'; RW<='1';
HALT<='0';

OP_ULA<="100";
WRITE_REG<="000";
READ_REG<="001";
LNZ<='0'; LCV<='0';
CE<='0'; RW<='0';
HALT<='0';

OP_ULA<="100";
WRITE_REG<="000";
READ_REG<="001";
LNZ<='0'; LCV<='0';
CE<='0'; RW<='0';
HALT<='0';

OP_ULA<="111";
WRITE_REG<="001";
READ_REG<="100";
LNZ<='0'; LCV<='0';
CE<='1'; RW<='1';
HALT<='0';

OP_ULA<="111";
WRITE_REG<="001";
READ_REG<="100";
LNZ<='0'; LCV<='0';
CE<='1'; RW<='1';
HALT<='0';

RESET='0'

ADDR0

ADDR1

ADDR2

RESET='0' AND IR(7 DOWNTO 2)="010111"

RESET='0'

RESET='0'

RESET='0'

OP_ULA<="111";
WRITE_REG<="000";
READ_REG<="011";
LNZ<='0'; LCV<='0';
CE<='0'; RW<='0';
HALT<='0';

OP_ULA<="111";
WRITE_REG<="000";
READ_REG<="011";
LNZ<='0'; LCV<='0';
CE<='0'; RW<='0';
HALT<='0';

OP_ULA<="001";
WRITE_REG<="110";
READ_REG<="011";
LNZ<='0'; LCV<='0';
CE<='1'; RW<='1';
HALT<='0';

OP_ULA<="001";
WRITE_REG<="110";
READ_REG<="011";
LNZ<='0'; LCV<='0';
CE<='1'; RW<='1';
HALT<='0';

OP_ULA<="000";
WRITE_REG<="000";
READ_REG<="111";
LNZ<='0'; LCV<='0';
CE<='0'; RW<='0';
HALT<='0';

OP_ULA<="000";
WRITE_REG<="000";
READ_REG<="111";
LNZ<='0'; LCV<='0';
CE<='0'; RW<='0';
HALT<='0';

ORI0

ORI1

ORI2

RESET='0' AND IR(7 DOWNTO 2)="011000"

RESET='0'

RESET='0'

RESET='0'

OP_ULA<="111";
WRITE_REG<="000";
READ_REG<="011";
LNZ<='0'; LCV<='0';
CE<='0'; RW<='0';
HALT<='0';

OP_ULA<="111";
WRITE_REG<="000";
READ_REG<="011";
LNZ<='0'; LCV<='0';
CE<='0'; RW<='0';
HALT<='0';

OP_ULA<="001";
WRITE_REG<="110";
READ_REG<="011";
LNZ<='0'; LCV<='0';
CE<='1'; RW<='1';
HALT<='0';

OP_ULA<="001";
WRITE_REG<="110";
READ_REG<="011";
LNZ<='0'; LCV<='0';
CE<='1'; RW<='1';
HALT<='0';

OP_ULA<="101";
WRITE_REG<="100";
READ_REG<="110";
LNZ<='1'; LCV<='0';
CE<='0'; RW<='0';
HALT<='0';

OP_ULA<="101";
WRITE_REG<="100";
READ_REG<="110";
LNZ<='1'; LCV<='0';
CE<='0'; RW<='0';
HALT<='0';

ORD0

ORD1

ORD2

ORD3

RESET='0' AND IR(7 DOWNTO 2)="011001"

RESET='0'

RESET='0'

RESET='0'RESET='0'

OP_ULA<="111";
WRITE_REG<="000";
READ_REG<="011";
LNZ<='0'; LCV<='0';
CE<='0'; RW<='0';
HALT<='0';

OP_ULA<="111";
WRITE_REG<="000";
READ_REG<="011";
LNZ<='0'; LCV<='0';
CE<='0'; RW<='0';
HALT<='0';

OP_ULA<="001";
WRITE_REG<="110";
READ_REG<="011";
LNZ<='0'; LCV<='0';
CE<='1'; RW<='1';
HALT<='0';

OP_ULA<="001";
WRITE_REG<="110";
READ_REG<="011";
LNZ<='0'; LCV<='0';
CE<='1'; RW<='1';
HALT<='0';

OP_ULA<="100";
WRITE_REG<="000";
READ_REG<="001";
LNZ<='0'; LCV<='0';
CE<='0'; RW<='0';
HALT<='0';

OP_ULA<="100";
WRITE_REG<="000";
READ_REG<="001";
LNZ<='0'; LCV<='0';
CE<='0'; RW<='0';
HALT<='0';

OP_ULA<="111";
WRITE_REG<="001";
READ_REG<="100";
LNZ<='0'; LCV<='0';
CE<='1'; RW<='1';
HALT<='0';

OP_ULA<="111";
WRITE_REG<="001";
READ_REG<="100";
LNZ<='0'; LCV<='0';
CE<='1'; RW<='1';
HALT<='0';

ORIN0

ORIN1

ORIN2

ORIN3

RESET='0' AND IR(7 DOWNTO 2)="011010"

RESET='0'

RESET='0'

RESET='0'

RESET='0'

OP_ULA<="111";
WRITE_REG<="000";
READ_REG<="011";
LNZ<='0'; LCV<='0';
CE<='0'; RW<='0';
HALT<='0';

OP_ULA<="111";
WRITE_REG<="000";
READ_REG<="011";
LNZ<='0'; LCV<='0';
CE<='0'; RW<='0';
HALT<='0';

OP_ULA<="001";
WRITE_REG<="110";
READ_REG<="011";
LNZ<='0'; LCV<='0';
CE<='1'; RW<='1';
HALT<='0';

OP_ULA<="001";
WRITE_REG<="110";
READ_REG<="011";
LNZ<='0'; LCV<='0';
CE<='1'; RW<='1';
HALT<='0';

OP_ULA<="100";
WRITE_REG<="000";
READ_REG<="001";
LNZ<='0'; LCV<='0';
CE<='0'; RW<='0';
HALT<='0';

OP_ULA<="100";
WRITE_REG<="000";
READ_REG<="001";
LNZ<='0'; LCV<='0';
CE<='0'; RW<='0';
HALT<='0';

OP_ULA<="111";
WRITE_REG<="001";
READ_REG<="100";
LNZ<='0'; LCV<='0';
CE<='1'; RW<='1';
HALT<='0';

OP_ULA<="111";
WRITE_REG<="001";
READ_REG<="100";
LNZ<='0'; LCV<='0';
CE<='1'; RW<='1';
HALT<='0';

ORR0

ORR1

ORR2

RESET='0' AND IR(7 DOWNTO 2)="011011"

RESET='0'

RESET='0'

RESET='0'

OP_ULA<="111";
WRITE_REG<="000";
READ_REG<="011";
LNZ<='0'; LCV<='0';
CE<='0'; RW<='0';
HALT<='0';

OP_ULA<="111";
WRITE_REG<="000";
READ_REG<="011";
LNZ<='0'; LCV<='0';
CE<='0'; RW<='0';
HALT<='0';

OP_ULA<="001";
WRITE_REG<="110";
READ_REG<="011";
LNZ<='0'; LCV<='0';
CE<='1'; RW<='1';
HALT<='0';

OP_ULA<="001";
WRITE_REG<="110";
READ_REG<="011";
LNZ<='0'; LCV<='0';
CE<='1'; RW<='1';
HALT<='0';

OP_ULA<="000";
WRITE_REG<="000";
READ_REG<="111";
LNZ<='0'; LCV<='0';
CE<='0'; RW<='0';
HALT<='0';

OP_ULA<="000";
WRITE_REG<="000";
READ_REG<="111";
LNZ<='0'; LCV<='0';
CE<='0'; RW<='0';
HALT<='0';

ANDI0

ANDI1

ANDI2

RESET='0' AND IR(7 DOWNTO 2)="011100"

RESET='0'

RESET='0'
RESET='0'

OP_ULA<="111";
WRITE_REG<="000";
READ_REG<="011";
LNZ<='0'; LCV<='0';
CE<='0'; RW<='0';
HALT<='0';

OP_ULA<="111";
WRITE_REG<="000";
READ_REG<="011";
LNZ<='0'; LCV<='0';
CE<='0'; RW<='0';
HALT<='0';

OP_ULA<="001";
WRITE_REG<="110";
READ_REG<="011";
LNZ<='0'; LCV<='0';
CE<='1'; RW<='1';
HALT<='0';

OP_ULA<="001";
WRITE_REG<="110";
READ_REG<="011";
LNZ<='0'; LCV<='0';
CE<='1'; RW<='1';
HALT<='0';

OP_ULA<="110";
WRITE_REG<="100";
READ_REG<="110";
LNZ<='1'; LCV<='0';
CE<='0'; RW<='0';
HALT<='0';

OP_ULA<="110";
WRITE_REG<="100";
READ_REG<="110";
LNZ<='1'; LCV<='0';
CE<='0'; RW<='0';
HALT<='0';

ANDD0

ANDD1

ANDD2

ANDD3

RESET='0' AND IR(7 DOWNTO 2)="011101"

RESET='0'

RESET='0'

RESET='0'

RESET='0'

OP_ULA<="111";
WRITE_REG<="000";
READ_REG<="011";
LNZ<='0'; LCV<='0';
CE<='0'; RW<='0';
HALT<='0';

OP_ULA<="111";
WRITE_REG<="000";
READ_REG<="011";
LNZ<='0'; LCV<='0';
CE<='0'; RW<='0';
HALT<='0';

OP_ULA<="001";
WRITE_REG<="110";
READ_REG<="011";
LNZ<='0'; LCV<='0';
CE<='1'; RW<='1';
HALT<='0';

OP_ULA<="001";
WRITE_REG<="110";
READ_REG<="011";
LNZ<='0'; LCV<='0';
CE<='1'; RW<='1';
HALT<='0';

OP_ULA<="100";
WRITE_REG<="000";
READ_REG<="001";
LNZ<='0'; LCV<='0';
CE<='0'; RW<='0';
HALT<='0';

OP_ULA<="100";
WRITE_REG<="000";
READ_REG<="001";
LNZ<='0'; LCV<='0';
CE<='0'; RW<='0';
HALT<='0';

OP_ULA<="111";
WRITE_REG<="001";
READ_REG<="100";
LNZ<='0'; LCV<='0';
CE<='1'; RW<='1';
HALT<='0';

OP_ULA<="111";
WRITE_REG<="001";
READ_REG<="100";
LNZ<='0'; LCV<='0';
CE<='1'; RW<='1';
HALT<='0';

ANDIN0

ANDIN1

ANDIN2

ANDIN3

RESET='0' AND IR(7 DOWNTO 2)="011110"

RESET='0'

RESET='0'

RESET='0'

RESET='0'

OP_ULA<="111";
WRITE_REG<="000";
READ_REG<="011";
LNZ<='0'; LCV<='0';
CE<='0'; RW<='0';
HALT<='0';

OP_ULA<="111";
WRITE_REG<="000";
READ_REG<="011";
LNZ<='0'; LCV<='0';
CE<='0'; RW<='0';
HALT<='0';

OP_ULA<="001";
WRITE_REG<="110";
READ_REG<="011";
LNZ<='0'; LCV<='0';
CE<='1'; RW<='1';
HALT<='0';

OP_ULA<="001";
WRITE_REG<="110";
READ_REG<="011";
LNZ<='0'; LCV<='0';
CE<='1'; RW<='1';
HALT<='0';

OP_ULA<="100";
WRITE_REG<="000";
READ_REG<="001";
LNZ<='0'; LCV<='0';
CE<='0'; RW<='0';
HALT<='0';

OP_ULA<="100";
WRITE_REG<="000";
READ_REG<="001";
LNZ<='0'; LCV<='0';
CE<='0'; RW<='0';
HALT<='0';

OP_ULA<="111";
WRITE_REG<="001";
READ_REG<="100";
LNZ<='0'; LCV<='0';
CE<='1'; RW<='1';
HALT<='0';

OP_ULA<="111";
WRITE_REG<="001";
READ_REG<="100";
LNZ<='0'; LCV<='0';
CE<='1'; RW<='1';
HALT<='0';

ANDR0

ANDR1

ANDR2

RESET='0'

RESET='0'

RESET='0'

RESET='0' AND IR(7 DOWNTO 2)="011111"

OP_ULA<="111";
WRITE_REG<="000";
READ_REG<="011";
LNZ<='0'; LCV<='0';
CE<='0'; RW<='0';
HALT<='0';

OP_ULA<="111";
WRITE_REG<="000";
READ_REG<="011";
LNZ<='0'; LCV<='0';
CE<='0'; RW<='0';
HALT<='0';

OP_ULA<="001";
WRITE_REG<="110";
READ_REG<="011";
LNZ<='0'; LCV<='0';
CE<='1'; RW<='1';
HALT<='0';

OP_ULA<="001";
WRITE_REG<="110";
READ_REG<="011";
LNZ<='0'; LCV<='0';
CE<='1'; RW<='1';
HALT<='0';

OP_ULA<="000";
WRITE_REG<="000";
READ_REG<="111";
LNZ<='0'; LCV<='0';
CE<='0'; RW<='0';
HALT<='0';

OP_ULA<="000";
WRITE_REG<="000";
READ_REG<="111";
LNZ<='0'; LCV<='0';
CE<='0'; RW<='0';
HALT<='0';

RTS
HLT

RESET='0'

RESET='0' AND IR(7 DOWNTO 4)="1101"
RESET='0' AND IR(7 DOWNTO 4)="1111"

OP_ULA<="111";
WRITE_REG<="011";
READ_REG<="101";
LNZ<='0'; LCV<='0';
CE<='0'; RW<='0';
HALT<='0';

OP_ULA<="111";
WRITE_REG<="011";
READ_REG<="101";
LNZ<='0'; LCV<='0';
CE<='0'; RW<='0';
HALT<='0';

OP_ULA<="111";
WRITE_REG<="111";
READ_REG<="100";
LNZ<='0'; LCV<='0';
CE<='0'; RW<='0';
HALT<='1';

OP_ULA<="111";
WRITE_REG<="111";
READ_REG<="100";
LNZ<='0'; LCV<='0';
CE<='0'; RW<='0';
HALT<='1';

RESET='0'

JMPI0

JMPI1

JMPI2

RESET='0'

RESET='0' AND IR(7 DOWNTO 3)="10000"

RESET='0'

RESET='0'

OP_ULA<="111";
WRITE_REG<="000";
READ_REG<="011";
LNZ<='0'; LCV<='0';
CE<='0'; RW<='0';
HALT<='0';

OP_ULA<="111";
WRITE_REG<="000";
READ_REG<="011";
LNZ<='0'; LCV<='0';
CE<='0'; RW<='0';
HALT<='0';

OP_ULA<="111";
WRITE_REG<="001";
READ_REG<="100";
LNZ<='0'; LCV<='0';
CE<='1'; RW<='1';
HALT<='0';

OP_ULA<="111";
WRITE_REG<="001";
READ_REG<="100";
LNZ<='0'; LCV<='0';
CE<='1'; RW<='1';
HALT<='0';

OP_ULA<="100";
WRITE_REG<="011";
READ_REG<="001";
LNZ<='0'; LCV<='0';
CE<='0'; RW<='0';
HALT<='0';

OP_ULA<="100";
WRITE_REG<="011";
READ_REG<="001";
LNZ<='0'; LCV<='0';
CE<='0'; RW<='0';
HALT<='0';

JMPIN0

JMPIN1

JMPIN2

RESET='0'

RESET='0'

RESET='0'

RESET='0' AND IR(7 DOWNTO 2)="100010"

OP_ULA<="111";
WRITE_REG<="000";
READ_REG<="011";
LNZ<='0'; LCV<='0';
CE<='0'; RW<='0';
HALT<='0';

OP_ULA<="111";
WRITE_REG<="000";
READ_REG<="011";
LNZ<='0'; LCV<='0';
CE<='0'; RW<='0';
HALT<='0';

OP_ULA<="111";
WRITE_REG<="001";
READ_REG<="100";
LNZ<='0'; LCV<='0';
CE<='1'; RW<='1';
HALT<='0';

OP_ULA<="111";
WRITE_REG<="001";
READ_REG<="100";
LNZ<='0'; LCV<='0';
CE<='1'; RW<='1';
HALT<='0';

OP_ULA<="100";
WRITE_REG<="000";
READ_REG<="001";
LNZ<='0'; LCV<='0';
CE<='0'; RW<='0';
HALT<='0';

OP_ULA<="100";
WRITE_REG<="000";
READ_REG<="001";
LNZ<='0'; LCV<='0';
CE<='0'; RW<='0';
HALT<='0';

JMPR0

JMPR1

JMPR2

RESET='0'

RESET='0'

RESET='0'

RESET='0' AND IR(7 DOWNTO 2)="100011"

OP_ULA<="111";
WRITE_REG<="000";
READ_REG<="011";
LNZ<='0'; LCV<='0';
CE<='0'; RW<='0';
HALT<='0';

OP_ULA<="111";
WRITE_REG<="000";
READ_REG<="011";
LNZ<='0'; LCV<='0';
CE<='0'; RW<='0';
HALT<='0';

OP_ULA<="111";
WRITE_REG<="001";
READ_REG<="100";
LNZ<='0'; LCV<='0';
CE<='1'; RW<='1';
HALT<='0';

OP_ULA<="111";
WRITE_REG<="001";
READ_REG<="100";
LNZ<='0'; LCV<='0';
CE<='1'; RW<='1';
HALT<='0';

OP_ULA<="000";
WRITE_REG<="011";
READ_REG<="111";
LNZ<='0'; LCV<='0';
CE<='0'; RW<='0';
HALT<='0';

OP_ULA<="000";
WRITE_REG<="011";
READ_REG<="111";
LNZ<='0'; LCV<='0';
CE<='0'; RW<='0';
HALT<='0';

JSRI0

JSRI1

JSRI2

RESET='0'

RESET='0'

RESET='0'

OP_ULA<="111";
WRITE_REG<="000";
READ_REG<="011";
LNZ<='0'; LCV<='0';
CE<='0'; RW<='0';
HALT<='0';

OP_ULA<="111";
WRITE_REG<="000";
READ_REG<="011";
LNZ<='0'; LCV<='0';
CE<='0'; RW<='0';
HALT<='0';

OP_ULA<="001";
WRITE_REG<="110";
READ_REG<="011";
LNZ<='0'; LCV<='0';
CE<='1'; RW<='1';
HALT<='0';

OP_ULA<="001";
WRITE_REG<="110";
READ_REG<="011";
LNZ<='0'; LCV<='0';
CE<='1'; RW<='1';
HALT<='0';

OP_ULA<="111";
WRITE_REG<="101";
READ_REG<="011";
LNZ<='0'; LCV<='0';
CE<='0'; RW<='0';
HALT<='0';

OP_ULA<="111";
WRITE_REG<="101";
READ_REG<="011";
LNZ<='0'; LCV<='0';
CE<='0'; RW<='0';
HALT<='0';

RESET='0' AND IR(7 DOWNTO 3)="11000"

JSRIN0

JSRIN1

JSRIN2

RESET='0'

RESET='0'

JSRIN3

RESET='0'

RESET='0'

RESET='0' AND IR(7 DOWNTO 2)="110010"

OP_ULA<="111";
WRITE_REG<="000";
READ_REG<="011";
LNZ<='0'; LCV<='0';
CE<='0'; RW<='0';
HALT<='0';

OP_ULA<="111";
WRITE_REG<="000";
READ_REG<="011";
LNZ<='0'; LCV<='0';
CE<='0'; RW<='0';
HALT<='0';

OP_ULA<="001";
WRITE_REG<="110";
READ_REG<="011";
LNZ<='0'; LCV<='0';
CE<='1'; RW<='1';
HALT<='0';

OP_ULA<="001";
WRITE_REG<="110";
READ_REG<="011";
LNZ<='0'; LCV<='0';
CE<='1'; RW<='1';
HALT<='0';

OP_ULA<="100";
WRITE_REG<="000";
READ_REG<="001";
LNZ<='0'; LCV<='0';
CE<='0'; RW<='0';
HALT<='0';

OP_ULA<="100";
WRITE_REG<="000";
READ_REG<="001";
LNZ<='0'; LCV<='0';
CE<='0'; RW<='0';
HALT<='0';

OP_ULA<="111";
WRITE_REG<="001";
READ_REG<="000";
LNZ<='0'; LCV<='0';
CE<='1'; RW<='1';
HALT<='0';

OP_ULA<="111";
WRITE_REG<="001";
READ_REG<="000";
LNZ<='0'; LCV<='0';
CE<='1'; RW<='1';
HALT<='0';

JSRR0

JSRR1

JSRR2

RESET='0'

RESET='0'
RESET='0'

RESET='0' AND IR(7 DOWNTO 2)="110011"

OP_ULA<="111";
WRITE_REG<="000";
READ_REG<="011";
LNZ<='0'; LCV<='0';
CE<='0'; RW<='0';
HALT<='0';

OP_ULA<="111";
WRITE_REG<="000";
READ_REG<="011";
LNZ<='0'; LCV<='0';
CE<='0'; RW<='0';
HALT<='0';

OP_ULA<="001";
WRITE_REG<="110";
READ_REG<="011";
LNZ<='0'; LCV<='0';
CE<='1'; RW<='1';
HALT<='0';

OP_ULA<="001";
WRITE_REG<="110";
READ_REG<="011";
LNZ<='0'; LCV<='0';
CE<='1'; RW<='1';
HALT<='0'; OP_ULA<="111";

WRITE_REG<="101";
READ_REG<="011";
LNZ<='0'; LCV<='0';
CE<='0'; RW<='0';
HALT<='0';

OP_ULA<="111";
WRITE_REG<="101";
READ_REG<="011";
LNZ<='0'; LCV<='0';
CE<='0'; RW<='0';
HALT<='0';

HALT

JCI0

JCI1

JCIN0

JCIN1

JCR0

JCR1

RESET='0' AND IR(7 DOWNTO 3)="10010"

RESET='0' AND IR(7 DOWNTO 2)="100110"

RESET='0' AND IR(7 DOWNTO 2)="100111"

RESET='0'

RESET='0'

RESET='0'

RESET='0' AND IR(7 DOWNTO 2)="10100" AND N='1'

RESET='0' AND IR(7 DOWNTO 2)="101010" AND N='1'

RESET='0' AND IR(7 DOWNTO 2)="101011" AND N='1'

RESET='0' AND IR(7 DOWNTO 3)="11100"

RESET='0' AND IR(7 DOWNTO 3)="10100"
RESET='0' AND IR(7 DOWNTO 3)="10110"

OP_ULA<="111";
WRITE_REG<="000";
READ_REG<="011";
LNZ<='0'; LCV<='0';
CE<='0'; RW<='0';
HALT<='0';

OP_ULA<="111";
WRITE_REG<="000";
READ_REG<="011";
LNZ<='0'; LCV<='0';
CE<='0'; RW<='0';
HALT<='0';

OP_ULA<="001";
WRITE_REG<="110";
READ_REG<="011";
LNZ<='0'; LCV<='0';
CE<='1'; RW<='1';
HALT<='0';

OP_ULA<="001";
WRITE_REG<="110";
READ_REG<="011";
LNZ<='0'; LCV<='0';
CE<='1'; RW<='1';
HALT<='0';

RESET='0' AND IR(7 DOWNTO 2)="111010"

RESET='0' AND IR(7 DOWNTO 2)="101010"
RESET='0' AND IR(7 DOWNTO 2)="101110"

OP_ULA<="111";
WRITE_REG<="000";
READ_REG<="011";
LNZ<='0'; LCV<='0';
CE<='0'; RW<='0';
HALT<='0';

OP_ULA<="111";
WRITE_REG<="000";
READ_REG<="011";
LNZ<='0'; LCV<='0';
CE<='0'; RW<='0';
HALT<='0';

OP_ULA<="001";
WRITE_REG<="110";
READ_REG<="011";
LNZ<='0'; LCV<='0';
CE<='1'; RW<='1';
HALT<='0';

OP_ULA<="001";
WRITE_REG<="110";
READ_REG<="011";
LNZ<='0'; LCV<='0';
CE<='1'; RW<='1';
HALT<='0';

RESET='0' AND IR(7 DOWNTO 2)="111011"

RESET='0' AND IR(7 DOWNTO 2)="101011"
RESET='0' AND IR(7 DOWNTO 2)="101111"

OP_ULA<="111";
WRITE_REG<="000";
READ_REG<="011";
LNZ<='0'; LCV<='0';
CE<='0'; RW<='0';
HALT<='0';

OP_ULA<="111";
WRITE_REG<="000";
READ_REG<="011";
LNZ<='0'; LCV<='0';
CE<='0'; RW<='0';
HALT<='0';

OP_ULA<="001";
WRITE_REG<="110";
READ_REG<="011";
LNZ<='0'; LCV<='0';
CE<='1'; RW<='1';
HALT<='0';

OP_ULA<="001";
WRITE_REG<="110";
READ_REG<="011";
LNZ<='0'; LCV<='0';
CE<='1'; RW<='1';
HALT<='0';

RESET='0' AND IR(7 DOWNTO 3)="10010" AND C='0'
RESET='0' AND IR(7 DOWNTO 3)="11100" AND V='0'

RESET='0' AND IR(7 DOWNTO 3)="10100" AND N='0'
RESET='0' AND IR(7 DOWNTO 3)="10110" AND Z='0'

RESET='0' AND IR(7 DOWNTO 2)="101111" AND Z='0'
RESET='0' AND IR(7 DOWNTO 2)="101011" AND N='0'

RESET='0' AND IR(7 DOWNTO 2)="100111" AND C='0'
RESET='0' AND IR(7 DOWNTO 2)="111011" AND V='0'

RESET='0' AND IR(7 DOWNTO 2)="101010" AND N='0'
RESET='0' AND IR(7 DOWNTO 2)="101110" AND Z='0'
RESET='0' AND IR(7 DOWNTO 2)="100110" AND C='0'
RESET='0' AND IR(7 DOWNTO 2)="111010" AND V='0'RESET='0' AND IR(7 DOWNTO 3)="10110" AND Z='1'

RESET='0' AND IR(7 DOWNTO 3)="10010" AND C='1'
RESET='0' AND IR(7 DOWNTO 3)="11100" AND V='1'

RESET='0' AND IR(7 DOWNTO 2)="101110" AND Z='1'
RESET='0' AND IR(7 DOWNTO 2)="100110" AND C='1'
RESET='0' AND IR(7 DOWNTO 2)="111010" AND V='1'

RESET='0' AND IR(7 DOWNTO 2)="101111" AND Z='1'
RESET='0' AND IR(7 DOWNTO 2)="100111" AND C='1'
RESET='0' AND IR(7 DOWNTO 2)="111011" AND V='1'

JSRIN4

RESET='0'

OP_ULA<="111";
WRITE_REG<="101";
READ_REG<="011";
LNZ<='0'; LCV<='0';
CE<='0'; RW<='0';
HALT<='0';

OP_ULA<="111";
WRITE_REG<="101";
READ_REG<="011";
LNZ<='0'; LCV<='0';
CE<='0'; RW<='0';
HALT<='0';


